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[1] DIN(ug-at /L) No. 6
H21 | H22 | H23 | H24 | H25 | H26 | H27 [ H28 | H29 | H30 | 10& | Ri &
11/25 [ 11/24 | 11/30 | 11/28 | 11727 | 11/25 | 11724 | 11/22 | 11/21 | 11/20 | F5 | 11/20 ARE
5.6 |1 40]9.2 4313.9(59]|50([7.6]80]|6.0]*5.7]|H B|oh A
6.4133(9.4|44|46|38|6.2|7.7]|81[7.8]6.2]46]|[F H[(7H A
6.1]35(10.3]35|42|60|57[40]|6.6[6.4]56]3.7]xt |7 A
6.6 |1 3.8(84]38|50]509]86.0 6.917.2(6.0]42| = 1|7H A
6.0]33(82]35|51]57]86.0 6.5 6.8|57]|45 | = 2[oh
6.813.6(85]38|52|65|58[51]|65[67]58]|35[Kk # 1B MIHA
= 1|7H A
= 2|7H A
4.7 41]16.0(87]6.9]86. 6.5]3.7|® M B 1|7H*
4.4 4.117.6(11.9]6.7| 7.4 7.4 7.0 35| M B 2(7h4
5.3129]6.2 4915746 4.9 B | o
481 40(6.5]32(31]6.2(42] 4.1 491451232 @ 1|7H A
5.713.8|6.4]34]|1.8[43]|44]|3.5 4914212012 @ 2[7h
17.01 3.3 | 6.2 |41 1.8[43]50](3.8 4956|222 @ 3|75
5.8 13.1|56]54]3.5 4011.6(1.2])47(139]06 | K 1|/
5,2 13.2|56|40]| 2.6 4211914152 |(37]03| =K 2(pm/vy
1141 40 49| 40| 2.6 40| 21(15]50[44]01|E R Iv2=PA!
6.1120(48|43]03|F K alposy
6.4148|55(52]30]39(60([1.6]20]11.8(5.07]0.9 pu ] i A=PA,
58135 (54(7.0)13.2|3.1 (39 (1.7]22)11.8(5.8]3.0}u ] 2o/
6.316.1(6.0[10.0]50)3.8(10.5(1.6]1.7]53]|561]0.4 | ] 4|9/
1.6 [ 6.2]5.7 20 (5.8 5.4 M BAE B OUDZHA
54 151/(6.2 26 (7.2 5.3 M E B QUAA
7.0 53]6.0 3.0 (6.6 5.6 M A B QAN
4.2 39 (41]0.5 |5 | A
49133(30]37(45]04(39]|27(12]38|31]02]|5 % 1|/
4813.2(35]139([45]03([40]26(1.3]38|32]04]|5 % 2(pm/y
4813.2(33]37(42]03(36]|27(13]38|31]03|5 % Iv2=PA!
46|13.6(31]36[44]06(3.7]23[12]36|31]06]|= 5 1|/
4513.8(129]34(44]04(39]24(09]39(31]05]|= 5 2(pm/y
6.6 6.8 |43|5143]1.8|7.7]10.2|3.4 5.6 & BT
7.6 2.5132(133]07]5.3 0091293302 # 1|7Hh A
3.213.6(0.8]3.6 1.1135]26]04|& #& 2[7h
551 3.6 2.4 311 1.755]43[24]34]35]1.0]=+ ®loosy
46.8(17.8]24.2 24.4( 5.2 123.9(33.2]25.8(26.2]25.3] 6.7 |EHI1(RB)|ACTH
6.5 |EHF)I10.5m|RSTH
4.2 |EFHN10.0m|RSTH
34.1( 5.3 110.6 21.6( 3.1 118.5(24.7]| 3.5 [14.3]|15.1] 6.0 |&H2 (KB |[ACTH
6.0 |EF)I20.5m|ACTH
.8 |EHN 2 (1.0m|RSTH
36.8(18.7|17.5 24.8( 6.0 |1 15.8(29.2]|14.6(16.2]20.0] 5.6 |E%H)I3 (KB |[ACTH
5.5 |EFH N3 (0.5m|RTT7H
57 |EHN3 (1.0m|RTT7H

*TFEERNFEKRKDO-HSEE




(2] UY(ug-at L) No. 6

H21 H22 H23 H24 H25 H26 H27 H28 H29 H30 | 10&F R1 F

11/25 [ 11/24 | 11/30 | 11/28 | 11/27 | 11/25 | 11/22 | 11/22 [ 11/21 | 11/20| 5 | 11/20 AR
0.7410.74 | 1.07 0.65[0.45|0.64|0.76]0.96|0.91|0.77|*1.26 |47 CIPEE
0.75/0.63[1.03|0.64|0.66|0.47|0.71|0.96|0.91[0.90|0.77]0.89 |[& H|7 5
0.80[0.64|1.10(0.69|0.64]|0.620.63|0.71[0.77[0.77[0.74]0.93 | IR
0.75|0.57|0.89|0.55|0.67|0.57|0.62 0.76[0.88(0.70|0.81 | =& 1|7hx
0.76|0.55|0.88|0.55|0.64|0.58|0.62 0.73/0.75]0.67]0.82|= =& 2|7hx
0.73]0.60|0.95|0.58|0.68|0.55|0.65[0.73[0.70[0.74[0.69]|0.76 |x & m. pi|wHx
S 1|7HA
S 27 HA
0. 61 0.62]0.68(0.71]0.69|0.84|0.68 0.69]0.72 M B 1|onx
0.65 0.66(0.78(0.83]|0.66|0.87|0.66(0.79(0.74|0.71 [ M & 2|[ohx
0.64|0.50 | 0.66 0.52|0.45(0.54 0.55 OB M|7hA
0.57]0.53(0.71{0.54|0.40| 0.44 | 0.47 | 0.54 0.54(0.53]0.48|2 & 1|7Ax
0.56|0.57(0.70|0.59|0.30|0.44 | 0.48 | 0.54 0.52(0.52|0.49|2 & 2|7Aax
0.69]0.57(0.73(0.61]0.36|0.44|0.50|0.48 0.51[0.55|0.55|= =& 3|7hx
0.58|0.51|0.63|0.69]0.45 0.45/0.38[0.22|0.47]0.49]0.38)& ® 1|yo/v
0.58(0.52(0.65|0.62] 0. 41 0.49/0.44[0.25/0.50(0.50]0.33|& ® 2|4o/v
0.86|0.59|0.59|0.61]0.48 0.48/0.45[0.26/0.50(0.53]0.35|& ® 3|yo/v
0.58(0.32(0.46|0.45|0.34|& ® 4|ym/vy
0.64]0.63(0.65(0.69]0.42|0.29|0.56|0.39(0.22[0.61[0.51]0.34|n wm 1|4m/y
0.64|0.56|0.580.73|0.35|0.31|0.44(0.38(0.25[0.64[0.49)0.36 |11 m 2|4m/y
0.60]0.62|0.67|0.81|0.46|0.40|0.69|0.38(0.27[0.47[0.54}0.31|n wm a|ymsy
0.92]0.550.69 0.370.49 0. 60 HoE B D7h
0.780.64|0.76 0.35|0.47 0. 60 OB B Q7Ah
0.88(0.720.84 0.38|0.47 0. 66 BB QA
0.63 0.39]0.51]0.30 |& |7 h A
0.51]0.52{0.44|0.55/0.39|0.20|0.43[0.39(0.21[0.43[0.41)0.28|5 =& 1|4msvy
0.50|0.55(0.47|0.58]0.33|0.20|0.40|0.40(0.22[0.40|0.40}0.27|5 = 2|4m/y
0.49|0.58|0.41|0.58]0.35|0.17|0.41[0.39(0.21[0.40[0.40}0.27|5 = 3|vmsvy
0.49(0.61{0.40|0.51]0.32|0.20|0.41[0.39[0.20[0.36[0.39]0.35|= & 1|4msy
0.53]0.61{0.38]0.52]/0.30|0.18|0.43[0.36[0.19[0.40[0.39]0.26|= & 2|4m/y
0.73/0.81[0.58|0.72(0.39]|0.33[0.79]0.68]0.28 0.59 i Blon
0.47 0.39]0.49|0.27|0.20] 0. 40 0.21]0.32]0.34|0.28|&8 #® 1|7hx
0.51[0.29(0.2210.40 0.2210.29[0.32]0.28/&8 #® 2(oHx
0.57(0.600.34 0.32]0.30(0.49|0.54]0.30|0.42|0.43]0.32 | ®|oasy
0.87]1.00|0.40|0.56]0.00|0.34|0.77|0.59(0.25[0.46 | 0.52| 0.44 |&H )1 (&) |xS7+
0.44 |=% )1 0.5 |2 7A
0.44 |E®1 (.om|2S7A
0.74]0.65|0.56|0.61]0.16|0.34|0.79|0.63[0.33[0.52(0.53]0.37 |&B)l2 (&E)|xS7+
0.37 |E% 2 0.5 |2S74
0.36 |=% 2 (1.om |74
0.86]0.89|0.50|0.57]|0.26|0.26|0.75|0.60|0.27|0.55[0.55|0.37 |&%)I3 &®E|xS7+
0.37 |&% 3 (0.5m |74
0.37 |&®mIa (.om|xS7A
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(31 Xk & No. 6
H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 10& | R1 &
11/25| 11/24 [ 11/30 | 11/28| 11/27 [ 11/25 | 11/24 | 11/22 | 11/21 | 11/20| F#y | 11/20 AE
18.5(18.0(18.0 18.0 18.1 i FTH 2
17.9118.3 18.9]16.8 18.0118.1|E H|{7H A
18.5]18.5 it a7 H A
2 @ 1|Hh A
-y i 2(7hA
17.7116.9117.2|18.5|19.7|19.7[17.4(19.0({18.3]19.3 |k ® 1 m|7HA
= 1|Hh A
= 2(7Hh A
B BT 1|ThA
B BT 2|ThA
; 5 9|2 H A
E:l b} 1(7HA
E:l b} 2|7hH A
E @ 3|7 H A
17.8(17.3]|18.3|16.0({17.0 19.1119.2117.3|18.0|17.8|18.9| =& A=PA!
17.0(17.5]|18.3|16.5(17.0 19.1119.2|17.5|17.0|17.7|18.9| =& 2(pmsy
17.0(17.3]|18.3|16.5(17.0 19.1119.1117.3|17.0|17.6|18. 7| =& ICA=PA
18.9116.5|17.5|17.6]18.7T|E =& 4|9/
17.5(17.0|18.0| 16 | 17 |17.2(19.2(19.0|17.0|16.8(17.5]18.81 ™ A=PA!
18.0(17.6|17.8| 15 | 14 | 18 | 19 | 20 | 17 17 (17.3]16.8)1 ™ 2(pmsy
17.6(17.0118.0( 15 | 17 18 | 19 | 19 18 | 18 [17.6]18.6 pu  ®w 4|87
16.8(12.6 17.6]18.2 16.3 M| 8 OUas
16.8| 15. 1 16.9)18.5 16.8 M| 8 QUas
16.8| 15 17 19 16.9 M| 8 QuUas
5 (T H A
19.0118.0|17.0| 17 | 16 | 16 | 19 | 18 | 17 | 16 |17.2]18.0|% # A=PAU!
19.0118.0|17.0| 17 | 16 | 16 | 19 [ 18 | 18 | 16 |17.2]18.0|% # 2(pmsy
19.0118.0|17.0|17.2|15.5| 17 [ 19 | 18 | 17 | 16 |17.4]18.0|% # ICA=PA
17.0(17.0117.8| 17 | 15 |17.2 19.0]15.5 16.9|18.0|+ & A=PAU!
17.0(17.0118.0| 17 | 15 |17.2 18.8]15.5 16.9|17.0|+ & 2(pmsy
& B|7AhA
18.0 18.0 7 # 1|7H 2
12 #t 2|7 HhA
18.0(17.0]18.1 17.4118.4121.5|19.1{17.0[17.6[18.2]18.5 |+ #lyosy
14.0114.8114.8|11.5{11.2|17.5[17.5[16.5[11.0|16.5| 14.5|14.9 |ZHIN1 (RB)|R>T7H
14.9 |FEH )1 (0.5m) |RST7H
15.3 |F&H1 (1.0m) | RST7H
14.7116.8)116.8|12.0{11.5[17.9(18.0[17.0(15.0|16.5|15.6]15.2 |&&HII 2 (RE)|R>T7+H
15.3 |FEH )2 (0.5m) |RST7H
15.3 |F&H )2 (1.0m) | RST7H
14.5114.6115.9|11.811.2]17.0(18.0[16.8(12.1|16.0| 14.8|15.3 |[ZHI 3 (KRB |R>T7H
15.3 |FE I3 (0.5m) |RCT7H
15.3 |FEHI3 (1.0m) | RST7H




(4] #& % No. 6
H21 | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | 10& | R1 &
11/25 | 11/24 | 11/22 | 11/21 | 11/27 | 11/25| 11/24 [ 11/22 | 11/21 [ 11/20 | Ft5 | 11/20 AH
31.7131.9(30.3{31.5|30.5({30.5(31.4|31.4({30.9(30.5|31.1]|*31.3)if FTH 2
32.0(32.1{30.6[31.6(31.1(30.7|31.4131.3|30.8{30.6|31.2]|31.4|% H|{7H A
32.2(30.6({31.8(31.0(30.9|31.5/30.7|31.130.7|31.2|31.5]4& a7 H A
31.8(32.3(31.0(31.7(31.2(31.3|31.9 31.2(31.5(31.5|31.5|2 @& 1|Hh A
32.0(32.3(31.0(31.6|31.2]31.3]32.0 31.3(31.2(31.5|31.6|2 @& 2(7Hh A
31.6(32.3(31.4(31.7(31.2131.2131.8|30.7|31.5[30.9(31.4]31.9|k & 1| mM|7HA
= 1|Hh A
= 2(7Hh A
31.9(31.9(30.6(32.2(32.131.5 31.7|31.7|%s M B 1|THA
31.9(31.4(31.4(32.1(31.9|31.5|31.4|31.7|31.7|"&s M B 2(7h
30.9(32.6(31.7[31.7(31.6(32.0|32.3 31.8 w0, MUax
32.1132.6(31.4 31.5(32.0(32.232.1 31.5(31.9]131.8)|2 @ 1|Hh A
32.1132.5(31.2 31.4(32.0(32.0(32.5 31.5(31.9]131.8)|2 @ 2(7H A
31.3132.4(31.4 31.3(32.0(31.4(30.8 31.6(31.6]31.8)|2 @ 3|7 H A
31.0|31.4(31.4|31.4 32.1(32.3(31.3[31.2(31.5]31.6| & 1lpasy
32.4131.4(31.5|31.4 32.3(32.5(31.4(31.2(31.8]31.5|E & 2\ym/)
32.1|31.6(31.5|31.4 32.2(31.6(31.4(31.3(31.7]31.5|E & 3|ym/y
32.3(31.2(31.4(31.6|31.4|E & 4|9/
29.4(31.2(31.4(31.1(30.1(30.7|32.3/30.5|25.7|30.3|31.4)m & 1|y
32.0(31.6(31.5(16.6(31.0(31.932.2130.6]26.2|29.3]29.7|m = 2|pm/ )
31.2(31.9(29.9(30.0(31.6(27.6|32.3|31.6(31.2|30.8]|31.4)m m 4|41/
18.2 30.6129.9 26. 2 M| 8 OUas
24.7 31.2131.0 29.0 M| 8 QUas
25.3 31.3|31.5 29.3 M| 8 QuUas
31.9130.3 31.1131.1131.4|5 (T H A
27.4(31.9(30.0(30.7(29.3(30.7|31.1130.9|31.1[31.3]30.4|31.4)5 = 1lpasy
29.5(32.0({30.8(30.8(29.4(31.0|31.3]|31.2|31.3|{31.3]/30.9|31.5|% = 2|#m/ )
26.9(32.1(30.9(31.4(29.7|31.2|31.7|31.4]|31.4|31.3]/30.8|31.6|]% = 3|ym/y
15.0132.1131.0(31.2129.4|31.5[31.8(31.6(31.2(31.3(29.6]31.7|« & 1|y
19.4132.1131.0(31.0(29.4|30.6[31.5(31.4({31.2(31.3(29.9]31.5|« & 2|#m/ )
25.6(31.9(30.3[30.0(30.4(31.1|31.1]31.0|30.6 30.2 & B|7AhA
2.9130.1126.2(27.9(29.5|31.6|25.6 31.3(29.2(26.0|31.3|&8 # 1|Hh A
29.7130.5(31.9(32.6 31.9130.3(31.1|31.41&8 # 2(7H A
32.2 31.8(31.7(31.7(32.1(32.5|32.7131.9|31.4|32.0]32.2 |+ #lyosy
21.9(27.9( 6.8 [14.9| 1.8 [30.0121.0|13.4|18.2|25.1|18.1]|26.8|&EH)I1 (KB |RACT7H
26.5 |EF)10.5m|RTTA
2.4 |EFN1 (1.0 | ROTA
7.3127.21 8.6 |16.4] 2.3 31.0[25.4(17.8(30.5([26.7(19.3]26.9|=%H)Iz2(XRE)|RCTH
26.9 |E%F) 2 0.5m|RCT7A
26.9 |EFN2 (1.0m|RTA
13.5123.6) 8.1 (15.4] 2.0(29.0(26.0({14.8(23.8|25.1|18.1]27.0|&&HIN3(KRE)|RCTH
27.0 |3 0.5m|RCT7A
26.9 |EFN3 (1.0m|RTA




